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1. Rk 26 4F 4 A

<&

AR RO

AR (27 #R)

Bl A

PR @ Cs-134(Bq/kg) X1 (@ Cs-137(Bg/kg) %2 it (D+@)(Ba/ke) %3
RE TR H ~97 TRt ~230 TR H ~327
T & (-0.5m) FH&H ~65 TR ~160 g H ~224

2. YRk 26 45 A

RAERER (&7 #R)

REVRE @D Cs-134(Ba/kg) %1 @ Cs-137(Bg/kg) %2 A5 (D+®@)(Ba/ke) X3
RE Tt ~70 FHRH~180 T ~250
T2 (-0.5m) RiEH~18 TR ~42 R ~60

3. Rk 26 4E 6 A

RAERR (21 #R)

REEE | @D Cs—134(Ba/kg) ¥1 @ Cs-137(Ba/ke) %2 &5 (D+Q2)(Barke) X3
=E 17 49 66
TE (-0.5m) TRt 19 19

4. V2647 A

RAERR (&7 #R)

BREURE D Cs—134(Ba/kg) 1 @ Cs-137(Ba/kg) %2 A5 (D+©@)(Baske) %3
RE FiRH ~36 Fi&tH~100 T ~136
T & (-0.5m) THRH ~30 TR ~T75 THEH~105

5. YRk 26 4E 8 A

RAERR (27 #R)

BREURE (D Cs-134(Ba/kg) 31 @ Cs-137(Ba/kg) X2 Bt (D+Q)(Ba/kg) %3
e TFEH ~60 14~160 14~220
T & (-0.5m) TR H ~58 THeH~170 T ~228

6. FEK 2649 A

AR (24 #R)

EREURE @ Cs—134(Ba/kg) X1 @ Cs-137(Ba/ke) %2 Bt (D+Q@)(Ba/kg) %3
xE TR ~11 11~29 11~40
T2 (-0.5m) R ~22 EH~76 THEH~98




7. YRk 26410 H

ARG R (28 #IR)

REGRE (@ Cs-134(Ba/kg) 31 @ Cs-137(Ba/ke) %2 &5t (D+2)(Baske) %3
RE TR ~50 Tt ~140 T ~190
T & (-0.5m) TE&H ~51 T ~160 THEHE~211

8. k264 11 A

ARG R (226 #I/R)

REGRE (@ Cs-134(Ba/kg) 31 @ Cs-137(Ba/ke) %2 &5 (D+)Baske) X3
xE TR &t ~16 e ~16
T2 (-0.5m) AH&RH~33 EH~85 FHEH~118

9. k264 12 A

RERE R (212 #hR)

REUEE (D Cs-134(Ba/kg) 1 @ Cs-137(Ba/kg) %2 B (D+@)(Ba/ke) X3
RE gt ~72 TR ~220 R ~292
T (-0.5m) Tt ~130 Fgt~430 FiaH ~560

10. Rk 2741 H

ARG R (2219 #R)

PRERRE (D Cs—134(Ba/kg) ¥1 @ Cs-137(Ba/ke) %2 &5 (D+Q2)(Baske) X3
xE T ~34 T ~110 Tt ~144
T/ (-05m) g Tt ~16 TiRti~16

11. YRk 2742 A

AR (27 #R)

REGRE (@ Cs-134(Ba/kg) 31 @ Cs-137(Bg/ke) %2 &5t (D+2)(Baske) %3
== g ~36 g ~120 T H ~156
T & (-0.5m) gt ~15 TR ~47 TR ~62

12. Rk 27T 4% 3 H

ARG R (226 #R)

RERE (D Cs—134(Ba/kg) ¥1 @ Cs-137(Ba/ke) %2 &5 (D+2)(Baske) X3
A T ~59 ¥t ~200 TR H ~259
T (-0.5m) TR R TiEH
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